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PM = Ax = dx

T  llVlU6thZh%6&&&i?~  P

TM = dy

Q M  =  Ay

.  T Q  =  d y - A yI. m

7





A y - d y  = - A x. . -+lAx
x(x+ Ax) x2

= (+Ay)+$Px

z (==z)Ax

(Ax)*z
x’(x+A:ij

3. tlWldlWl4 a) Ay

b:~ dy

c) Ay - dy Lih6lMUFI~l

3.1 y = x2- 3x,x = -1, Ax = 0.02

ihi3  : y = x=-3x

y+Ay = (.rc+Ax)*-3(x+Ax)

zz x2+2x(Ax)+(Ax)2-  3x-3(Ax)

Ay = 2x(Ax)  + (Ax)’ - 3(Ax)

= (2x - 3) Ax+ (Ax)*

. . Ay ‘= [ 2(- 1) - 3 ] (0.02) + (O.Oi)’

= -0.1+0.0004

= .-  0.0996

o1nihJ dy = f’(x) dx

= (2x -3 )dx

= (2x-3)A.x

= (2(- 1) - 3) (0.02)

= -0.1

Ay - dy = (2x - 3) Ax+(Ax)‘-  (2x - 3) Ax

= (Ax)=

= (o.ozy

= omo4 m
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3.2  Y = -$,x = -3,Ax  = -o.,

y+Ay  = 1
(x+Ax)=

Ay= ’ 1
(x+ Ax)’ - 2

= x~-(x+Ax)~
x2(x  + Ax)’

= x2  - x2  - 2x(Ax)  - (Ax)~
x2(x  + Ax)’

= - Ix(Ax) - (Ax)l
x2(x+ Ax)’

= - 2(-  3) (- 0.1) - (- 0. 1)2
(- 3)2 (- 3.1)2

= - 0.6 - 0.01
86.49

- 0 61=A
86.49

= - 0.0070528

nflihJ dy = f’(x) dx

= -$dx

= -=$Ax

= -q-0.1)
(- 3)3
0.2

=-27
= - 0.0074074

A y - d y  = - WAX)  - (AN2 + 2 Ax
x2(x  + Ax)* x3

= - 0.0070528 +0.0074074

= 0.003546
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0. !@ =  4(1+3x)Z:y  =  -
dx2

1blWY  =  - 2 1 3 8 x  =  - 1

iirii  oin 2 = 4(1+3xY

g = 4(1+3x)2

dy’ = 4(1+3x)*dx

sdy’ = s 4(1+6x+9x2)  dx

y’  = 4x+24;+36$+C,

o1fl&ulv  y' = -2 r&l x = -1

- 2  =  -4+12(-1)2+12(-1)3+C,

c, = 2

:. y' = 4x+12x2+12x3+2

2 = 12x3+12x2+4x+2

dy = (12x3+12x2+4x+2) dx

j-dy  = s (12x3+12x2+4x+2)dx

y  =  12$+12$+4$+2x+C,

y = 3x4+4x3+2x2+2x+C2

olfll~Du?~w’n’lMum  y = - 1 &I  x = - 1

:. - 1  =  3+(-4)+2+(-2)+C,

c* = 0

hK&l y = 3x4+4x3+2x2+2x n

10. 9” (3,2)  +Jul&4vi~  y = f(x) d~“?7u~~uo~,n’u~~~~~~~  (x, y) hl q ihi1

difk  2x-3 o-aninuni5tdulfk

2 = 2x-3
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